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A. FHRABRGEHCNE90.3 kI-mol-1, T ek r#uib 22 5 FE N aLRow N
CH4(g)+202(g)===CO02(g)+2H20(g) AH=—2890.3 kJ-mol-1

B. 500°C. 30 MPaF, *#50.5 mol N2A1.5 mol H2 & F 55 P49 780 | M A= FRNH3(g),  HUHh
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19.3 kJ, H#AMZEFERXAN2(g)+3H2(g) 7w s ..%:r‘sz(g) AH=—38.6 kJ-mol-1
C. BHFEI01 kPa' R, | g H2BARAE KRS 121 KIE, HPMEZETERN

1
H2(g)+ 2 02(g)===H20(g) AH= —242 kJ-mol-}
D. 25°C, 101 kPab}, 3RER-5 S@Ba HIH VA A A HP AR BRI A #CN57.3 kI mol-1, RsHR
B 5 S AR VIR L B HR R A B i 225 2 2ONH2S O4(aq) 4+ 2KOH(aq )=K2S O4(aq) +2H20(])
AH=—114.6 kJ-mol-1
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2H28(2)+302(g)=2S02(g)+2H20(l) AH=Q1 kJ/mol
2H28(2)+02(g)=2S (s)*ZH20(l) AH=Q2 kJ/mol

2H2S(g)+02(g)=2S (s)+2H20(g) AH=Q3 kJ/mol

HWrQl. Q2. Q3=FHRKARIEEMMAZ ()

A. Q1>Q2>Q3 B. Q1>Q3>Q2 C. Q3>Q2>Q1 D. Q2>Q1>Q3
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A. HHAH B H Fc(H+H) 28K BB H Fc(H+)B1066% B. iZ B WK pH=4
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